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Entwicklung von p,| h, fur Beispiel auf Folie 17
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N1:(1+1*4)*1=5

Findet jetzt Gberlappungsfreie Losung!
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N1:(1+1*0,5)*1=1,5

[1+0=1
N1:(1+1*1)*1=2

N4:1*1
N1:(1+1*1)*1=2

[1+0=1
N1:(1+1*2)*1=3
N41*1
N1:(1+1*2)*1=3

N1,N2:(142*2)*1=5

[1+(2-1)=2
N1,N2:(1+2*4)*2=18
N4, N2:(1+1*4)"2=10

N2:1%2=2
N2:(1+1*4)*2=10
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N2:(1+1*0,5)*1=1,5
N2,N3:(1+2%0,5)*1=2
[1+(2-1)=2
N2,N3:(1+2*1)*2=6
N2,N3:(1+1*1)*
N2,N3:(1+2*1)*
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N2,N3:(1+1%1)*
N2,N3:(1+2*1)*
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|2+(2-1)=3

N2,N3:(1+2*2)*3=15

N2, N3:(1+1*2)*3=9

N3:1*3
N3: (1+1%2)*3=9

|3+(1-1)=3

N3:(1+1*4)*3=15

N3:1*3=3
N3:(1+1*4)*3=15



